Zadatak 9.

Rje3enje.

DETALJINA RIESENJA ZADATAKA IZ UDZBENIKA MATEMATIKA 4 ZA 4. RAZRED GIMNAZIJE

Rijes jednadzbu f’(x) = 0 akoje:

1) f(x) = 2sm2x sinx + 4;

2) f()_smx+ Sin2x+ 3 sm3x

3) f(x)=c osx—\/—smx—c052x

4) f(x) = /2(Snx+ cosx) 4+ x — sin?x

1) f/(x) = sinx- cosx — cosx = 0 = cosx(sinx—1) =0 = cosx=0
ili sinx— 1. x:g—i—kn, kez.

2) f/(X) = cosx+ c0s2x+ coS3x = COSX + 2 C0S° X — 1+ 4 €0S® X — 3COSX =
—2008X + 2€08°X — 1 + 400> x = 2008”X(2C0sX + 1) — (2c0sX + 1) =
(2cos? x—1)(2cosx+1) = (v/2cosx—1)(v/2cosx+1)(2cosx+1) =0 —

2 .. 2 .. 1 T Ve
COSX = > ili cosx = — ili cosx = 5 X = Z+2k7r, X= Z+2k7r,

3r 5 2 . 4
—Z+2k —Z+2k7r,X—?+2k7rIX—?+2k7r,kEZ.

. . 1
3) f/(x) = —sinx — v/3cosx + 2sin2x = —2(§ - sinX + ? - COSX +

. . T LT . T .
sSin2x) = —2(S|nxcos§+cosxsm §+sm2x) = —2[sm(x+§) _smzx] =
X+ 242 X+ = -2 9 3
—2.2sin 32 sn 32 = —4sn X+ﬂsin7r_6X=0:>

X+ m Lo m—3X ~ 2r(1+3K) 2r(1+ 3Kk)

5 =0ili sin 6 =0.X—T 3

sin
Z.
4) f/(x) = v/2(cosx — sinx) + 1 — 2sinxcosx = v/2(cosx — sinx) + (1 —
sin2x) = v/2(cosx — sinx) + (cosx — sinx)? = (cosx — SiNx)(v/2 + cosx —
sinx) =0 = cosx = snx ili V2 + \/icos(g +x) =0. x= % + 2k,

5 3n
2 + 2 + 2K, K €

ilix=——""" ke
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